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2 add 6 gives the same answer 
as 

3 add 5 
 

True or false. 
Explain your answer. 

Jack has 9 beans. 
He is given 5 more beans. 

How many beans has Jack got 
now? 

 
 
 

Jack had 10p and spent 5p on 
milk. How much change did he 

have? 
 

 

Jack had 20 cows. His Mum 
made him sell all of them apart 
from 1. Write a – maths story to 

show this calculation. 
 
 
 

There are 16 eggs.  If I eat 8 of 
them, I will have an odd number 

left. 
True or false? 

Explain your answer. 

 

The beanstalk has 
14 leaves. How many more 

leaves need to grow to make 29 
leaves? 

 

 

If the beanstalk always grows 
multiples of 2 leaves, there will 
always be an even number of 

leaves. 
Will this always, sometimes or 

never be true? 

 

50 cows and  ? 
cows make 80 

cows altogether. 
Find the missing number. 

 

The hen lays 3 eggs on Monday. 
She did the same thing on 

Wednesday and Friday. Write 
this as a x maths story? 

 

 


